How to read various charts at this website
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1. Introduction [FUIC

Language Faculty Science discusses a number of Experiments but the information of those Experiments is
provided only partially in the book due to the space considerations. This website provides the design,
Examples, and results of every Experiment discussed in the book. Those who have a copy of the book can
make use of the basic information provided here regarding how to read various charts at this website. For
the illustration, we refer to charts for EPSA [31]-4, which is the Main-Experiment discussed in Chapter 6.
See Ch. 5: section 3 for how the Examples are presented to the informants on-line.

S:EHEERIF (Language Faculty Science) JTIEZKDREENZRINTVETH, MIBOBHRT, Zh
SOEERICEITZERD—EBICLIMANSNTVEB Ao COVITYAMMIE RO TEBINTNEIAT
DEBRICEALT, Z20TH1Y, fIX. BRAMBEHINTVET, AEBFEOHE, COVITTA O 4 &
FOFAHICELT, CZLELTHIEANBIEREMALTVERGTLLEBWET, FELT, EPSA
[31]-4 DREEW EIFBIECLET, TN, 5B 6 ETERINTVWBERERTY, L HIXHEDLIICIYTA
—NYMIRTRENBNMIOVT, 5 5 BE 3EIESRU IS,

Those who do not have a copy of the book but wish to learn about experimental aspects of what is

presented in Language Faculty Science may find it useful to consult with the Glossary provided at the "Top
page" of this website before going over the following.

AREFFH>TRVWEWHNTE BEERZ] TIRRENTVIAROERNAIECOVWTHEVEVNEEZITNS
FlE COXEEZHAEDSEIC, COVITHA MO M TIR-I(CIBEHINTWSHEE (Glossary) &2
B\ KELNERBVET,

The illustration given in each section below is in relation to an actual chart, which can be viewed by

clicking first "EPSA [31]-4 (=[31]-11)" under "English Experiments" under "Menu" and then a particular
clickable part of that page you see. The illustration below goes from the top to the bottom of that page.

UTOECIVIVICHET2EHRE. EROKRICEIZEDTT, ZMFE(E. Menu DD English
Experiments D (283 EPSA [31]-4 (=[31]-11)27 Uy L TRWER-IJ([CIBEINTNBU VIEIUYI T
BIETRABIENTEXT, AT TE ZOR-I% ENS T ETIEBHFICRBLTVEXT,

! The references to (a section of) a chapter below are all to the CUP book, unless otherwise specified.

LUFOEREAT, EPEIAOSRIL, BTUARVRYITIANT, [SEEEERS (Language Faculty Science) JOTDT
EP
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2. Design THAY

The Design page of EPSA [31]-4 looks like (1).
EPSA [31]-4 DT YA VICEATZR-JE. (1)DELSITHE>TWETS,

®
Experiment No.4
Schema Group #1 WCO in Schema B
Schema A1 ok NPV [...B...] (Under BVA(NP, B))
SchemaBl*[..B..]V NP (Under BVA(NP, B))
SchemaClok[..B..]V NP (With B being referential )

Reconstruction effects in Schema A, with Schema B
continuing to be about WCO

Schema A2 ok [...B..]NPV (Under BVA(NP, B))
SchemaB2*[..B..]V NP (Under BVA(NP, B))
Schema C2 ok [...B...]V NP  ( With B being referential )

Schema B involves local disjointness effects, but that is not
the main point of this EPSA.

Schema A3ok NPV [...B...] (Under BVA(NP, B))
SchemaB3*NPV B (Under BVA(NP, B))
Schema C3 ok NPV B  ( With B being referential )

Schema Group #2

schema design

Schema Group #3

Lexical Group #1 every boy
Lexical Group #2 no boy

accept until 2014/02/22
Yes-or-No (in

example design

Included Times shown = 1 The number of Example tokens = 18

sets)
. WEHTND Included Times shown = 1 The number of Example tokens = 18
test design | (one each)
I(:i::lgé:g)nkmg Excluded Times shown = 1 The number of Example tokens = 18
A GEITAG Excluded Times shown = 1 The number of Example tokens = 18

(one each)

The Examples of our Experiment are constructed, and hence classified, by the following three dimensions:?
EEROFOFISLL, RO 3 DOBIEICEINTIER SN, HEEINTNET, ?

(2) a. Schematypes (Schema A, Schema B, and Schema C)
A%-V-947 (AF¥-Y A A¥-V B, 2¥-Y C)

2 See the Glossary entries for "Schema A," "Schema B," "Schema C," "Schema group," and "Lexical group."

FBEEE D Schema A, Schema B, Schema C, Schema group, Lexical group DIEZSBNDI ¢,
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b. Schema groups
AF=N-JI-TF

c. Lexical groups
BEIIN-T

The "schema design™ makes reference to Schema types and Schema groups and the "example design"
to Lexical groups. The number of the Schema types is always 3 (Schema A, Schema B, and Schema C).
EPSA [31]-4 has three SGs and 2 LGs. It thus consists of 3x3x2=18 Examples as indicated in (3).

[ZAX-NDT AV EAF-N -FATERX-N - TIWN-T%, [FIXOTHI1V] . BEIN-TEHELET, AF
~-NOFEFBEFEIC3DTT (AF-VY AL AF-Y B, AF¥-Y C) , EPSA [31]-4 [C[E. 3 DDAF-N-F I -7
E2DDEBEIN-THHYET, ZOH. 3)TTRENTNSEY, 3x3x2 T 18 EDHISXH BB INBIEIC
BYET,

3. Examples {3

(©)
a. EPSA [31] #4 : list of example sentences (lexically grouped)

EPSA [31] #4 : BIXUAL (BEICEDIKIIN-T41D)

1 | Al-1 ok (Under the interpretation "Every boy praised his own father")
Every boy praised his father.

2 | B1-1| * (Under the interpretation "Every boy was praised by his own father")
His father praised every boy.

3 | C1-1 ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

4 | A2-1 ok (Under the interpretation "Every boy praised his own father")
His father, every boy praised.

5 | B2-1 | * | (Under the interpretation "Every boy was praised by his own father")
His father praised every boy.

6 | C2-1 ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

7 | A3-1 ok (Under the interpretation "Every boy praised his own father")
Every boy praised his father.

8 | B3-1 | * (Under the interpretation "Every boy praised himself")
Every boy praised him.

9 ' C3-1 ok (With him referring to a specific boy, Mike, for example)
Every boy praised him.

10  Al1-2 ok (Under the interpretation "No boy praised his own father")
No boy praised his father.
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11

12

13

14

15

16

17

18

B1-2

C1-2

A2-2

B2-2

C2-2

A3-2

B3-2

C3-2

Al-1

Al-2

A2-1

A2-2

A3-1

A3-2

B1-1

B1-2

B2-1

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

ok (Under the interpretation "No boy praised his own father")
His father, no boy praised.

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

ok (Under the interpretation "No boy praised his own father")
No boy praised his father.

* | (Under the interpretation “No boy praised himself")
No boy praised him.

ok (With him referring to a specific boy, Mike, for example)
No boy praised him.

EPSA [31] #4 : list of example sentences (configurationally grouped)

EPSA [31] #4 : BISXUAL (FERICEIKITIN-T4 1)

ok (Under the interpretation "Every boy praised his own father")
Every boy praised his father.

ok (Under the interpretation "No boy praised his own father")
No boy praised his father.

ok (Under the interpretation "Every boy praised his own father")
His father, every boy praised.

ok (Under the interpretation "No boy praised his own father")
His father, no boy praised.

ok (Under the interpretation "Every boy praised his own father")
Every boy praised his father.

ok (Under the interpretation "No boy praised his own father")
No boy praised his father.

* | (Under the interpretation "Every boy was praised by his own father")

His father praised every boy.

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

* | (Under the interpretation "Every boy was praised by his own father")

His father praised every boy.
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10 | B2-2 * (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

11 | B3-1 * (Under the interpretation "Every boy praised himself'")
Every boy praised him.

12 | B3-2 * (Under the interpretation “No boy praised himself")
No boy praised him.

13 | C1-1 ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

14 C1-2 ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

15  C2-1 ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

16 C2-2 ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

17  C3-1 ok (With him referring to a specific boy, Mike, for example)
Every boy praised him.

18  C3-2 ok (With him referring to a specific boy, Mike, for example)
No boy praised him.

SG3 is not directly relevant to the issues addressed in the CUP book, the result charts for EPSA [31]-
4 do not consider informant judgments that involve SG3. We could have given (4) instead of (1), indicating
that SG3 is excluded.

AF-N-JI-T 3[E ZTHEONTVSIEEICEEE. BRIEIHYELADT, EPSA [31]-4 DFERZFLS
ERICE AF-N I -T 3 ICBBT BV TA-NYPORBEHIEEEN VTR A, BE. EOQ)DRKD
YIZLTD@)EBEL T AF-V-JI-T 3BBASNTNBRI L ERTBIEBRIBETLE,

(4)

Experiment No.4
Schema Group #1 WCO in Schema B
Schema ALok NPV [...B..] (Under BVA(NP, B))
SchemaBl*[..B..]V NP (Under BVA(NP, B))
SchemaClok[..B..]V NP (With B being referential )

Reconstruction effects in Schema A, with Schema B
continuing to be about WCO

Schema A2 ok [...B..]NPV  (Under BVA(NP, B))
SchemaB2*[..B..]V NP (Under BVA(NP, B))
Schema C2 ok [...B...]V NP  (With B being referential )

Excluded Schema B involves local disjointness effects, but
that is not the main point of this EPSA.

Schema Group #2
schema design

Schema Group #3
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SehemaB3 NPV B—{Under BVANP B}
Sel ~3 ol — (\With B bei : =
Lexical Group #1 every boy

example design Lexical Group #2 no boy

test design | (one each)

(examples change )
accept until 2014/10/22
Yes-or-No (in
sets)
Yes-or-No

Included Times shown =1 The number of Example tokens = 12

Included Times shown =1 The number of Example tokens = 12

F_|ve—rank|ng Included Times shown =1 The number of Example tokens = 12
(in sets)

PN Included Times shown =1 The number of Example tokens = 12
(one each)

If (4) were chosen, the list of Examples would be 3x2x2=12 Examples, as indicated in (5), which does
not show the Examples of SG3.

BLEA)NEIREINERL, B)ITRENTVSEY, FISX—EICIE, 3x2x2 T 12 EDFISXHHTELT, Hb.
(5)TlE. AF—V-II-T 3 0B FRRENTVEE A,

(5)
a.
1 Al1
2 | B1-1
3 |c11
4 A2-1
5 | B2-1
6 |Cc2-1
7 |A1-2

EPSA [31] #4 : list of example sentences (lexically grouped)
EPSA [31] #4 : BIXUAL (BEICEDIKIIN-T41D)

ok (Under the interpretation "Every boy praised his own father")
Every boy praised his father.

* | (Under the interpretation "Every boy was praised by his own father")
His father praised every boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

ok (Under the interpretation "Every boy praised his own father")
His father, every boy praised.

* | (Under the interpretation "Every boy was praised by his own father™)
His father praised every boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

ok (Under the interpretation "No boy praised his own father")
No boy praised his father.
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10

11

12

10

B1-2

C1-2

A2-2

B2-2

C2-2

Al-1

Al-2

A2-1

A2-2

B1-1

B1-2

B2-1

B2-2

Ci1-1

C1-2

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

ok (Under the interpretation "No boy praised his own father")
His father, no boy praised.

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

EPSA [31] #4 : list of example sentences (configurationally grouped)
EPSA [31] #4 : BIXUAL (FERICEIKITN-T4 1)

ok (Under the interpretation “Every boy praised his own father")
Every boy praised his father.

ok (Under the interpretation "No boy praised his own father")
No boy praised his father.

ok (Under the interpretation "Every boy praised his own father")
His father, every boy praised.

ok (Under the interpretation "No boy praised his own father")
His father, no boy praised.

* | (Under the interpretation "Every boy was praised by his own father")
His father praised every boy.

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

* | (Under the interpretation "Every boy was praised by his own father")
His father praised every boy.

* | (Under the interpretation "No boy was praised by his own father")
His father praised no boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.
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11 C2-1 ok (With His referring to a specific boy, Mike, for example)
His father praised every boy.

12 | C2-2 ok (With His referring to a specific boy, Mike, for example)
His father praised no boy.

Both in (3) and (5), the list of Examples in EPSA [31]-4 is repeated twice, but organized differently.
Consider the list under "lexically grouped” in (5a). The numbers in the first column represent the serial
numbers of the Examples. The letter-number combination in the second column (which we can call
"Example ID") expresses, for each Example, its Schema type, its Schema group (SG) and its Lexical group
(LG) in that order. It uniquely identifies an Example in an Experiment, as indicated in (6).

B)ZBWVWTEB)ICHWTE. EPSA [31]-4 OFIXUANME 2 EHEVRSNTVWETA, JI-THInEREVE
9, Ga)DIFEBEICEIIIN-TRFIDVAMNE R THELLS ., BRAIDFIICHE WKBZHZEE, AIXDBLES
ERLTVET, 2 FIBICHTABXFERFOEAEDE (I ID EFFERZEICLET) F. ZNZhof)
XICBILT, ZORAF -V -1 TERF-V - JI-T (SG) . BEIIN-T (LG) #ZDIEHETRLTVET,

6)ISRENTNB LS

(6) Example IDs in EPSA [31]-4 (as given in (5a)):

((5a)lcH2BYD) EPSA [31]-4 DFIST ID

NEERICHIZFINE—BHNIHETSEDTY,

Serial Example Predicted What Schema type, SG, and LG the
number ID Judgment Example is made of

1 Al-1 Yes answer Schema A, SG1, LG1
2 Al-2 Yes answer Schema A, SG1, LG2
3 A2-1 Yes answer Schema A, SG2, LG1
4 A2-2 Yes answer Schema A, SG2, LG2
5 B1-1 No answer Schema B, SG1, LG1
6 B1-2 No answer Schema B, SG1, LG2
7 B2-1 No answer Schema B, SG2, LG1
8 B2-2 No answer Schema B, SG2, LG2
9 C11 Schema C, SG1, LG1
10 C1-2 Schema C, SG1, LG2
11 C2-1 Schema C, SG2, LG1
12 C2-2 Schema C, SG2, LG2

"ok" and "*" that follow the "Example IDs" in (5) represent the predicted judgments in the case of Al1-1 to
A2-2 and B1-1 to B2-2, as indicated in (6). The informant judgments in the case of C1-1 to C2-2 are
expected, though not predicted, to be a Yes answer. Hence the cells for C1-1 to C2-2 under "Predicted
Judgments" are left blank in (6).%

3 See the Glossary entries for "Yes answer" and "No answer."

FASEEED Yes answer & No answer DIEZSBOIL,

4 In the Raw Data charts, to be given below, Schema A, Schema B, and Schema C are represented as 1, 2, and 3 in the
first column, instead A, B, and C, respectively. See section 8 below.

#9ER HowTo-160626.docx
8/27



G)IZBNTHISZ ID DFICHTLBlIok]&[*]1F, (B)[CTRENTWAELIIC, Al-1 1B A2-2 &£, Bl1-1 5
B2-2 MZEIE. (REN'D) FRISNZAZRMEHIEEZRLTVET, C1-1 H'b C2-2 DHE. HEEDR
RHEHIBTE Yes THRIENFHINZEDOOD, 2Nl (RFEEND) FRISNZDITEHYFE A, T
Cl-1h'5 C2-2 I FRIZNZ ¥ | (E. (6) TIXEMICHO TNET, >4

4. Summary (of the result)  (¥5RD) &

The Summary chart of EPSA [31]-4 is as given in (7) although only the judgments by the first eight
informants out of the 179, are given here. Because SG3 is excluded, the chart in (7) does not refer to the
informant judgments on Examples of SG3. | will now explain various parts of the chart by adding footnotes,
starting footnote 5.

EPSA[31]-4 DXEDHIZT)DBYTI A, 179 2DV ITA-NIMDIE, RHD 8 B DAV TA-NY MIL2¥!
W DHZEBEL TVNET, AF-V-JI-T3IDBRASNTVNET DT, (7)DERTE. AF-Y-JI-T 3 DFI
[CDWTDIYTA-NY FOHIBTICIEANONTVEE Ao LT TlE, ROER A BERD(CDWVT, 7E 5 MHDH]
ECERLTVNERY,

(7)
EPSA [31] : BVA in English
Experiment #4 -- Summary

The values for the Examples of the Schema groups and/or Lexical groups that are "Excluded™ are not shown.

participant list : pers-r2.Ist®

straight file : s20.Ist |  Yes-or-No (insets) |  Yes-or-No (one each) | --- - 6

LTSRS ET-IDZTlE. Schema A, Schema B, Schema C [FZNZ1., |=HIDFIC A, B, C TldH<. 1,2,3¢5%
RENTWET, COXEDE 8 EiESHBOIL,

5 The "participant list : pers-r2.Ist" means that this chart represents judgments by the informants classified as "r2,"
which is native speakers of English according to what is reported during the EPSA registration; see Ch. 5: section 5.2.

"participant list : pers-r2.Ist"(3. CORN 12 EXDEINFAVTA-N Y ML BHETEZR > TNBE WS EBRTT, r2 &[4,
EPSA B SkIFCREBDREREE CHILBRBLEAYIANIIDIETT, BESEFE52MESROIL,

& This means that the informant judgments considered in this chart are the results of the Yes/No test type. There are
two Yes/No test types: (i) the one where the informant sees a set of three Examples at a time (corresponding to the
three Schema types) and (ii) the one where the informant sees one Example at a time; see Ch. 5: section 3.1. The
result charts at this website all combine the two Yes/No test types, except when the justification of combining the
results of the two Yes/No test types is addressed; see the part of English EPSAs [31]-1, [31]-4, [31]-7 and Japanese
EPSAs [3]-7, [10]-10, and [33]-9, starting with "The one-sentence-at-a-time test type vs. the three-sentences-at-a-
time test type."”

IhiE. ZORTHEY EIFONTWNSIYTA-Y Y OFIBTA, Yes B No A TEXBTAMIBIBERTHBIEERLT
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EPSA [31]-#4 < english > (Total 179 participants’ ; 3237 answers®) ... as of May/15/2014°
Schema A Schema B Schema C

% of YES Answers® 54 % 22 %' 82 %

WET, COFITDTANIIE RD 2 BEABHYZET, (i) (3 DOAF-V-FM1TIIIET2) 3 DOFIXXH—ECAY
TA-NYMIRTRENZEDL. (i) BIXH 1 DF DMV ITA-N VMR TREINZEDTT, F 5 EF 31 EHESROIL,
CDVITYAMIBHINTWAIERDEEL, 2 BFED Yes/No TANDIEREHRAELIEED TS, 2L, 20 2 FEFED
Yes/No TADIERER AT 2L DIEFHIENZRINBIBEFRELT, LEED EPSA [31]-1, [31]-4, [31]-7 L HAE
ZBD EPSA [3]-7, [10]-10, [33]-9 IcH(13[1 EIC 1 XERTIZTAMNER L 1 BIC 3 XERRIBTAMERICDOW
TUTHRISHEDESRDIL,

" If an informant reports a judgment on at least one Example, her/his reported judgments are considered in the result

charts. For EPSA [31]-#4 (=[31]-4), there are 179 such informants (who are native speakers of English), as of
May/15.2014.

ELT1YTANY I, 2HEE 1 DOBIXICDOVTOHIERE LSS, 201V T4V bOHIEE, FEROR(C
EFENFET, EPSA[31]-#4 (=[31]-4)Tld. 2014 £ 5 B 15 HIRE. ZOLOIBAVIA-NV b (FEHEFE) 1179
CARE

8 This is the total number of the reported judgments, counting each reported judgment on an Example. The informants
are allowed to return to the Experiment as many times as they wish. Furthermore, the informants are allowed to take
different test types that are made available to them. (See Ch. 5: sections 3.1 and 3.3.) In the case of a small number
of Experiments, the Examples are shown to the informants twice. Therefore, the number in question can include more
than one reported judgments on one Example by the same informant.

INIFRESNTHIRTORE T, EEACEALTREINLHIIRNTZEALEZEDTT, 1V IA-NIYME, AET
BRERICSINTBIENAIBETI L, £ BIRTEZZTAMNERANMERHZHEE. BERBTAMNEXTRIBILEH]
BETY, (BBLEFEILHEEIIHESHBOIL,) BEZLHYEFEAN, R—0FIIHIYITA-V I M 2 EIRR
SNBEBRBEHVFET, LEAHT 1 D0FIXICEALT, 1 ADMYTA-NY MEEIIRE LD, YEBECESE
NTWZATEEEEHYET,

% This is the date when the chart was created, not the date when the last judgment was reported in EPSA [31]-4. As
of 6/13/2014, the last reported judgment in EPSA [31]-4 was made on 2/22/2014.

INIE MAMERSNT=B T, EPSA [31]-4 (CBELT. BREZOFIIHSRESNEBTIREHYEHA, 2014 F 6 B
13 HIR7E T, EPSA [31]-4 [CEAY 2 HIMIHRA(CIRESNEDIL, 2014 £ 2 B 22 HTY,

10 This is the percentage of the Yes Answers among all the answers given on the Examples instantiating the Schema
in question. See the Glossary entry for "Yes answer."

NIE. YZAXNICETAHIXICBELTHRESNEITRTORIZEDHR T, Yes DRIBZN HHIEETT, FHEBEED
Yes answer QIEBZSEBOIE,

11 This %(Y), which is the %(Y) on Schema B, is for the group of 179 informants under consideration. It is the
percentage of Yes Answers among all the reported judgments (1081) on the Examples instantiating Schema B (B1-1,
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Number of Answers 1087 1081 1069

0% <A (where
A=0% A>0% A=0% A=25% AS500%
codename Schema A Schema B Schema C A<25%  _ o =2
B>0% B>0% B=0% B=0% 5 —ou)
=0%
13
11334104779nE*? 188 o, 289, 0, 0,0, 100, 100, 100, 100, 100,

B1-2, B2-1, and B2-2). In this sense, the %(Y) in question is for a multiple-informant experiment. If a particular
choice of SG or LG makes a big difference, the %(Y) on a Schema type, therefore, may not be particularly meaningful
unless we differentiate the results, depending upon the choice of SG or LG. That is why we also consider Schema-
group-based result charts and Lexical-group-based result charts, as we will see below.

ZD%(Y)IE. ZZTIE Schema B [CBE T 2%(Y)TI A, INEITREES 179 ZDT1YTA-NI DI IN-TILHEFEEDT
9, D&Y, Schema B (B1-1, B1-2, B2-1, and B2-2)[L/B 9 3HISXICBL TR ESNEZIANTOHIRT (1081 14) OHT
Yes DEIZN EHHZBIETT, CORKT, HEO%(Y)IE BV ITA-Y I FEBEOEDTT, EBLAF-Y- I -TH
WLIEBEBZEIN-TOREDE RNAAESZEVNEELLTOTHNE, AF -V - TI-THEWLEBEIN-TORIRCE
DNWTHREXFILAEWRYIE, HBAF-Y - F1TO%(Y)[EFICEREE LBV EICEYET, COLOBRERICLY,
WUTILRZESIC AF—V-IIN-TIEIHEROFRL, BEIN-TCEIHEROREHDHETERLET,

12 What is given in this row is about the judgments reported by the informant whose code name is given here. What
is indicated in each row is thus the result of a single-informant experiment.

ZOFTIE, ZZCI-FRARBENTAYITANY MCEO TR ESNFIMTICEET2ED T, LA T ZNZNDOTICR
SNTWBDE, BEHAYIA-NYFEBROBERTY,

13 Each numerical figure in this cell represents the %(Y), for each informant, on an Example instantiating Schema A
in the order of Al-1, Al1-2, A2-1, and A2-2, which is in accordance with the order of the Examples in the list of
Examples in (5b) (i.e., under "configurationally grouped™). If the chart included SG3, there would be two more figures
and the six figures in the cell would represent the %(Y) on Al-1, Al-2, A2-1, A2-2, A3-1, and A3-2 in that order.
The numbers in the cell under Schema B represent the %(Y)'s on B1-1, B1-2, B2-1, and B2-2, in that order. Likewise,
the numbers in the cell under Schema C represent the %(Y)'s on C1-1, C1-2, C2-1, and C2-2, in that order. If an
informant reports just one judgment on one Example, it is either a Yes answer or a No answer; see the Glossary. If it
is a Yes answer, the %(Y) on the Example is 100%. If it is a No answer, the %(Y) is 0%.

ZDENDFRDZNZNOEF(E. Schema A [CET3FIXICHEFEH XAV TA-NYED%(Y)%E, AL-1, Al-2, A2-1,
A2-2 DIBFETRLTVWET, IN(E. Gb)DFISTURR (DFY, [ERICEIVEII-THT]) CHF36XDIESEIC
WISELTWET , ELZORDAF-V - T -T 3 EEATWEL, SHICEEFED 2 DII0Y, ZO T AT AL-1, Al-2,
A2-1, A2-2, A3-1, A3-2 D%(Y)H' 6 D, CDIBETEIZEICHRYET, Schema B D FICHZTILADEF (L. B1-1,
B1-2, B2-1, B2-2 M%(Y)&ZDIBE TRLTWEY, EH(IC. Schema C D FICHBZIARDEF(F, C1-1, C1-2, C2-1,
C2-2 D%(Y)&ZDIBEZETRLTWET, BL. 1 ADTYITA-NYI 1 DOBITICILT 1 BIEFHETZR S LT
5, ZN(E Yes DEIZD No DEIZENDVNSNNTT, AEEEZSROIL, ELEIED Yes THNIL, ZOFIXD%(Y)
(£ 100%& WS EIZBYET, ELEIZED No THNIE, %(Y)IE 0%EBYET,

14 For each informant, one of the 5 boxes under (i)-(v) is shaded, indicating which of these categories the informant's
reported judgments belong to.
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J1334108643aE 100, 100, 0, 0, 100, 100, 100, 100, '100, 100, 100, 100, [ ]

G1334109581rE 100, 100, 0, 0, 0,0,0,0, 100, 100, 100, 100, R

J1334125186€E 0, 0, 0, 50, 0,0,0,0, 100, 100, 100, 100, e

0] A=0%, B>0%: the %(Y) on Schema A is 0% and the %(Y’) on Schema B is larger than 0%

(i) A>0%, B>0%: the %(Y) on Schema A and the %(Y) on Schema B are both larger than 0%

(iii) A=0%, B=0%: the %(Y) on Schema A and the %(Y) on Schema B are both 0%

(iv) 0%<A, A<25%, B=0%: the %(Y) on Schema A is larger than 0% and smaller than 25%, and the %(Y)
on Schema B is 0%

(V) Az25%, B=0%: the %(Y) on Schema A is 25% or larger, and the %(Y) on Schema B is 0%

All the Examples instantiating each Schema type are considered here. Because we consider a combination of the %(Y)
on Schema A and the %(Y) on Schema B, none of the boxes under (i)-(v) will be shaded for an informant if that
informant only reports a judgment on Examples of Schema A or Schema B (and not on any Example instantiating the
other Schema) or if the informant does not report any judgments on any Example instantiating Schema A or Schema
B while reporting a judgment on an Example instantiating Schema C.

AVTA-NVRZEI ()DBV)DTFD 5 20TIOSED 1 DAEHNF(CH>TWET A Ihid. 20 5 20H7TV-05
5QEQHTIV-IC. ZOIYTANY M TR ESN N E T 205 RLTVWET,

(i) A=0%, B>0%: Schema A M%(Y)#A* 0% T, 7'D. Schema B M%(Y)7A* 0%LUEKRE,

(ii) A>0%, B>0%: Schema A M%(Y)& Schema B D%(Y)AEBIC 0%LUBARE,

(iii) A=0%, B=0%: Schema A D%(Y)& Schema B D%(Y)H'EBIC 0% TH B,

(iv) 0%<A, A<25%, B=0%: Schema A M%(Y)7H* 0%&Y KEL, 25%&H/INEL, 7D, Schema B M%(Y)H
0% TH%,

(v) Az25%, B=0%: Schema A D%(Y)7A* 25%LL_E T, 7D, Schema B M%(Y)7H' 0% TH3,

All the Examples instantiating each Schema type are considered here. Because we consider a combination of the %(Y)
on Schema A and the %(Y) on Schema B, none of the boxes under (i)-(v) will be shaded for an informant if that
informant only reports a judgment on Examples of Schema A or Schema B (and not on any Example instantiating the
other Schema) or if the informant does not report any judgments on any Example instantiating Schema A or Schema
B while reporting a judgment on an Example instantiating Schema C.

ZITE BAFNF1T BT BINTOHIXAEESINTNET, Schema A D%(Y)E Schema B D%(Y)DHEHE
DENERINTWVBED. HR1VTA-NIIM (E3—FOAF-VICET 20X DIz X< E L TI)
Schema A 7z[& Schema B DLW NA—HDAF-V - I1TICE T 2B DM ER E LIS, HBW\E. $HB1
YIA=NYh' Schema A ¥ Schema B [CJE S 261X DHIMTE £ 7K & B FIC. Schema C IZET 251X DFIMTIT
ERELEBE. 201V TA-NYEO>M)DBV)DTOEILOWSThEMENTSNEE A,

15 The box under (vi) is shaded to indicate that the informant's reported judgments belong to the category in (vi).

(vi) (where A=50%, B=0%): the %(Y) on Schema A is 50% or larger and the %(Y) on Schema B is 0%
It is only lightly shaded to indicate that this category is a subset of the category in (v) above.

VIO T OEIABENISNTWBIBE . 1Y TA-NY MRELEHIBA (Vi) DATIV-ICBLTVWAI LB RLTVNE
9,

(vi) (where A=50%, B=0%): (Schema A M%(Y)#* 50%LL LT, 7D, Schema B M%(Y)H' 0% THZHE)

Vi) O TOEIOEEINAEVNDE, COHTITU-H ETRAREV)OATIV-OBAEESEHEITVNRILERTEHTT,

16 The %(Y) on an Example being 50% means that the informant has reported judgments on the Example twice or
more times (which must be an even number) and 50% of those answers were Yes answers.
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L1334180602iE 100, 100, 100,0, 10,0,0, 0, 0,0, 0, 100,
P13341818651E 100, 100, 0, O, 0,0,0,0, 100, 100, 100, 100,
C1334186019iE 100, 100, 0, 33", 66, 100, 100, 33, 100, 66, 100, 66,

R1334166330nE |50, 50, 50, 100, 100, 100,50,0, 100, 50, 100, 50, [ ]

0% <A (where
A=0% A>0% A=0% . A=25% AS50%

A<25%
> 09 > 09 =09 B=0% _ _
B>0% B>0% B=0% S B =0%)

HBBIZD%(Y)D 50%THBEEWIZ LI ZOIVTA-NY M 2 B E (DEFKE) 200 XOHIBTEREL, Z
DIRE D 50%H Yes THofzEWSIZEEEKLET,

17 The %(Y) on an Example being 33% means that the informant has reported judgments on the Example three times
or more and 33% of those answers were Yes answers. 1/3 is rounded down to 33%. Similar rounding takes place
elsewhere, which sometimes results in a situation where we do not obtain the "expected” 100% by adding various %
figures.

HBBITD%(Y)D 33%THBREWSIZEE, ZD1YTA-NY M 3 [ELL L, ZOBIXOHIKTER S L. ZOIFRED 33%
B Yes THEWSTEEEBRLETS, [3 90 1IIE N ARUTEYIVIETT 33%EBYET, hOERTTH. B
PV THITON., ZOFEER. 2BOEEERLTE. [FHINBELSA1100%(CEHEEAEVN EEHYET,
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Number of informants. 38 77 | 10% 72, 852 (73)
Percentage’ 1.6%? 43.5%  5.6% | 1.1% = 48%

18 The number of informants whose reported judgments belong to the category in (i) in footnote 14 is 3, which is about
1.6 % of the informants under consideration.

E 14 O()OATIV-ICB I 2HIMTERE L1V TA-NIYME 3 BT, INIF. RMREBBIVTA-N VDK 1.6%I[C
HEVET,

1% The number of informants whose reported judgments belong to the category in (ii) in footnote 14 is 77, which is
about 43.5 % of the informants under consideration.

E 14 Q) ONTIV-ICB T 2HIMERE LAV IA-NIYME 77 BT, TN RREBBIVTA-N Y FDFI 43.5%
(CHVET,

20 The number of informants whose reported judgments belong to the category in (iii) in footnote 14 is 10, which is
about 5.6 % of the informants under consideration.

E 14 0GiNOHTIV-ICB T 3HIERE LMY ITA-N VM 10 & T, INE FREBBMVTA-V Y FDK 5.6%
(CHVET,

21 The number of informants whose reported judgments belong to the category in (iv) in footnote 14 is 2, which is
about 1.1 % of the informants under consideration.

E 14 O(v)ONT TV-ICBT2HIMERE LAY IA-—NIYME 2 BT, NI WREBZAVTA-N Y FOF 1.1%IC
EYsUES: R

22 The number of informants whose reported judgments belong to the category in (v) in footnote 14 is 85, which is
about 48 % of the informants under consideration. 1f we add the numbers on this row (excluding 73 in the category

in (vi) in footnote 15), we get 3+77+10+2+85=177, instead of 179. That is because there are two informants for whom
we do not have both %(Y) on Schema A and %(Y) on Schema B. See the last sentence in footnote 14.

E 14 OV)OHTIV-ICETZHIMERE LAY TA-N VM 85 BT INIE RREGZM1VTA-NY DK 48%IC
LrEVET, CE150MVDOATIV-0ETS 73 5BV ZOTOEFERET L., 3+77+10+2+85 T 177 LAY,
179 [C[EHYFEH A, INIL. Schema A M%(Y)& Schema B D%(Y)DWINADRIFTWNEI Y ITA-NV I 2 B W31
HTT, iE 14 DRBONESROIL,

Z.o(1) is the percentage of the informants in a given experiment who have reported Yes on at least one of the
*Examples under consideration while at the same time reporting a judgment on an °Example corresponding to Schema

A. See the Glossary. The %(1) in EPSA [31]-4, including all the native speakers of English, is therefore 1.6+43.5=45.1,
which is given as 45% in the book. See footnote 17.

% ()&, HBEERT, Schema A [CXF 5T 2 KExample THIKTZR S L. M D, IR ELE*Examples DD H<LEE 1D
T Yes EEIZLEAYIANIYMDEIETY, HEBEEESBOIE, LA T, EPSA [31]-4 [CBT5. INTOEER
EEEEBEEET%()IE. 1.6+43.5 T 45.1 £7Y, INIEATIE 45% L HH>TVNET, i 17 25 BOIL,
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5. Schema-group-based (result) AF¥-V-JI-TFICE I\ (BER)

When the choice of a SG makes a big difference, it is useful to consider the results of an Experiment,
focusing on different SGs, as in our Schema-group-based-result chart in (8) below. This is based on the
same set of reported judgments as (7). The information in (8) is therefore already contained in (7).

AF-N-TN-TOBRNKRELRVEELSTIHE. U TOEO)DAF-Y - TI-TLEIWHEROEKICH
3L BBBAF NI -TIIE R (TERBEREZRI LN AR TT, ZORME, (7)ERERD
WESNTHIBOESCEDIVTVET, LA T, (8)CHBIBRIFBEC(T)CEENTNET,

(8)
EPSA [31] : BVA in English
Experiment #4 -- Results of Each Schema Group

The values for the Examples of the Schema groups and/or Lexical groups that are "Excluded" are not shown.

participant list : pers-r2.Ist

straight file : s20.Ist |  Yes-or-No (insets) |  Yes-or-No (one each) |

EPSA [31]-#4 < english > (Total 179 participants ; 3237 answers) ... as of Jul/29/2014
WCO in Schema B

% of YES Answers = 81 %%
Schema A 1 ok NP V [... B ... ] (Under BVA(NP, B))
Number of Answers = 548

Schema Group 1 % of YES Answers = 21 %
Schema B 1 *[..B..]1V NP (Under BVA(NP, B) )
Number of Answers = 544

% of YES Answers = 80 %
Schema C 1 ok [... B...]V NP ( With B being referential )
Number of Answers = 536

Reconstruction effects in Schema A, with
Schema B continuing to be about WCO
SR R % of YES Answers | 26 %%
Schema A 2 ok [...B...] NPV (Under BVA(NP, B))
Number of Answers | 539

24 This is the %(Y) on Schema A of SG1, in the multiple-informant experiment. It combines the two LGs. Similarly,
"21%" and "80%" below are the %(Y) on Schema B of SG1 and the %(Y) on Schema C of SG1, respectively.

NS BBV IA-NYRERICETE, ZF-Y V)7 1 ® Schema A D%(Y)T. 2 DDEEI N -TEEHEEED
TY, RIS, ZOT D 21%& 80%(EZNZE N, AF--J)L—T 1D Schema B M%(Y)&. AF-Y -7 )L—7 1M Schema
C D%(Y)TY,

% This is the %(Y) on Schema A of SG2, in the multiple-informant experiment. It combines the two LGs. Similarly,
"22%" and "83%" below are the %(Y) on Schema B of SG2 and the %(Y) on Schema C of SG2, respectively.

INIE EERA Y TA NV PERERICETE. AF¥-Y T -TF 2 D Schema A D%(Y)T. 2 DDEEIIN-TEEDOEEED
T, ARIC. ZOT D 22%& 83%I[FZNZEN. AF¥-Y-J)L—T 2D Schema B D%(Y)&. ZAF¥—V -7 )L—F 2D Schema
C D%(Y)TT,
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% of YES Answers = 22 %

Schema B 2 *[..B...]V NP (Under BVA(NP, B) )

Number of Answers | 537

% of YES Answers = 83 %

Schema C 2 ok [... B...]1V NP ( With B being referential )

Number of Answers | 533

Schema Group 1
0% <
A= A> A= A
codename ' Schema Schema ' Schema 0% 0% 0% A<

Al B1 C1 B> B> B= 25%
0% 0% 0% B=
0%

Schema Group 2
(wher
AZ25 e A= A>
%  |AZ50 schema Schema Schema 0% 0%
g= % A2 B2 C2 B> B>
0% B= 0% 0%
0%)
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0%
B=
0%
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A<
25%

0%

(wher
A=25 e
% AZ=50
B = %
0% =
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1133410477 [100%, | 5 1o 1007, 100%, 0%, 100%,
9nE 1002, U 11002, 100%,  1100%, 100%,

2 This is the %(Y) on Al-1 for the informant whose codename appears in this row. The qualification "for the
informant whose codename appears in this row" also applies to the following 11 footnotes.

INnlE. ZOFTICI-FEPFRRSINTNBZI Y TA-N Y FOFIST AL-1 D%(Y)TT, [ZDITICI-FEDFRRINTNSA
VIANVEDJEVWIFIBRIE. UATD 11 BOEICDOVWTEHTIRYET,

27 This is the %(Y) on Al-2.
N3, 13X AL-2 D%(Y) T,
28 This is the %(Y) on B1-1.
IN(E, BIX B1-1 D%(Y) T,
2 This is the %(Y) on B1-2.
IN(E, BIX B1-2 D%(Y) T,
30 This is the %(Y) on C1-1.
ZhiZ, B3 C1-1 D%(Y) T,
31 This is the %(Y) on C1-2.
ZhiZ, B3 C1-2 D%(Y) T,
%2 This is the %(Y) on A2-1.
INIE, BIX A2-1 D%(Y)TT
3 This is the %(Y) on A2-2.
IN(E, BIX A-2-2 D%(Y) T,
3 This is the %(Y) on B2-1.
NI, BIX B2-1 D%(Y) T,
% This is the %(Y) on B2-2.
NI, BIX B2-2 D%(Y) T,
3 This is the %(Y) on C2-1.
NI, B C2-1 M%(Y) T,
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23410884 1100, 100, 1100, 100, 1100, 100, . 0,0, 100,100, 100, 100, .
i]é33410958 100, 100, 0, 0, 100, 100, 0,0, 0,0, 100, 100, .
éi%3412518 0,0, 0,0, 100, 100, . 0, 50, 0,0, 100, 100, .
R133416633 50, 50, |10, 100, /100, 50, . 50,100, 50,0, 100,50, .
|2_i1|.533418060 100, 100, 0, 0, 0,0, . 100, 0, 0,0, 0, 100, .
£12>1%1 1100, 100, 10,0, 100,100, . 0,0, 00, 100,100, .
;1E33418601 100, 100, 66, 100, 100, 66, . 0, 33, 100, 33, 100, 66, .
0% < (wher 0%< (wher
A= A> A= A A225 e A= A> A= A AZ25 e
0% 0% 0% A< % AZ50 0% 0% 0% A< % AZ50
_ B= % _ B= [%
B> B> = 25% B> B> = 25%
0% 0% 0% B= 0% B~ 0% 0% (0% B= 0% =
0 0%) 0 0%)
Schema Group 1 0% Schema Group 2 0%
Number Number
of 61 0 13 0 | 98 | (97) of 34 28 69 | 1 | 42 | (34)
informan informan
ts ts
Percenta o | 344 0 9 55.3 Percenta | 19.5 o, 39.6 o | 24.1
ge 2.8% % 7.3% 0% % ge % 16% % 0.5% %

EEIIN-TICEIVE BR)

When the choice of an LG makes a big difference, it is useful to consider the results of an Experiment,
focusing on different LGs, as in our Lexical-group-based-result chart in (9) below. This is based on the
same set of reported judgments as (7). The information in (9) is therefore already contained in (7), as in
the case of (8).

BEIN-TOERRPAEHENEELTIHB AR UTOQOERIN-TICEIVHEROKIIHELS
L. REIEEIN-TIERELE(TERBREZRIBZUNELRTT, JOKME. (7)ERKROMESN
TEHIBTDERICEIVNTVNET, LIz T (9)CHBIERIL. (8)DIHE LR, BHC(7)[CEFTNTVET,

6. Lexical-group-based (result)

©)
1. EPSA [31] : BVA in English
Experiment #4 -- Results of Each Example Group

The values for the Examples of the Schema groups and/or Lexical groups that are "Excluded" are not shown.
participant list : pers-r2.Ist
Yes-or-No (one each) | --- --

straight file : s20.Ist |  Yes-or-No (in sets) |

37 This is the %(Y) on C2-2.

NI, B C2-2 D%(Y) T,
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EPSA [31]-#4 < english > (Total 179 participants ; 3237 answers) ... as of May/15/2014

every boy

38
% of YES Answers | 56 % ok (Under the interpretation “"Every boy praised his own father")

Number of Answers | 541 | EVery boy praised his father.

Lexical Group 1 B % of YES Answers | 21 9% | « (Under the interpretation "Every boy was praised by his own father")
Number of Answers . 53g | His father praised every boy.

% of YES Answers | 85 % ok (With His referring to a specific boy, Mike, for example)

c ) .
Number of Answers | 539 | His father praised every boy.
no boy
39
A % of YES Answers | 51 % ok (Under the interpretation "No boy praised his own father")
Number of Answers | 546 | No boy praised his father.
Lexical Group 2 5 % of YES Answers | 22% | « (Under the interpretation “No boy was praised by his own father")
Number of Answers | 543 His father praised no boy.
. % of YES Answers | 78 % | o (with His referring to a specific boy, Mike, for example)
Number of Answers | 530 His father praised no boy.
Lexical Group 1 Lexical Group 2
here 0, (where
A= A> A= 0%<A (W = A> A= (0%<A | _ uh
codename W 0% 0% A< g el W 0% 0% A< g
A B @ % % A B c % %
B> B> B= 25% B=0% B= B> B> B= 25% B=0% B=
0% 0% 0% B=0% 0%) 0% 0% 0% B=0% 0%)

3 This is the %(Y) on Schema A of LG1, in the multiple-informant experiment. It combines the two SGs. Similarly,
"21%" and "85%" below are the %(Y) on Schema B of LG1 and the %(Y) on Schema C of LG1, respectively.

INIE BEA Y TA-N Y IEBRICHTS. 5BEII-T 10 Schema A D%(Y) T, 2 DDAF-V - J I -TaEHEEED
TY, BRI, ZOT O 21%& 85%IFZNZN., BEJI-T 1 @ Schema B D%(Y)&. sEZ&J -7 1 O Schema C
M%(Y) T,

3 This is the %(Y) on Schema A of LG2, in the multiple-informant experiment. It combines the two SGs. Similarly,
"22%" and "78%" below are the %(Y) on Schema B of LG2 and the %(Y) on Schema C of LG2, respectively.

INIE EEAYIA-NYIRERICHTSZ, 35EVIV-T 2D Schema A D%(Y) T, 2 DDAF-N I -TEEHEEED
TY, BHRIC. ZOTOD 22%¢ 78%IFZNZFN. sEEJ -7 2 D Schema B D%(Y)&. &V I-T 2 @ Schema C
D%(Y)TY,
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1004 0%
11334104779n |, 0%, 1100%, 1004 10(’)49 100%,
E 100% 0%, 1 100%, , 100%,

40 This is the %(Y) on Al-1 for the informant whose codename appears in this row. The qualification "for the
informant whose codename appears in this row" also applies to the following 11 footnotes.

InlE. ZOFTICI-FEPFRRSINTNBZI Y TA-N Y FOFIST AL-1 D%(Y)TT, [ZDITICI-FEDFRRINTNSS
VIA-XVEDIEWSHIBRIE, LT D 11 BOEICOVWTELE TUIFYET,

4L This is the %(Y) on A2-1.
INIE, BIX A2-1 D%(Y)TT
42 This is the %(Y) on B1-1.
IN(E, BIX B1-1 D%(Y) T,
43 This is the %(Y) on B2-1.
IN(E, BIX B2-1 D%(Y) T,
4 This is the %(Y) on C1-1.
IN(E, BIX C1-1 D%(Y) T,
4 This is the %(Y) on C2-1.
Zhi, B3 C2-1 D%(Y) T,
%6 This is the %(Y) on A1-2.
IN(E, BIX A1-2 D%(Y)TT
8 This is the %(Y) on B1-2.
IN(E, BIX B1-2 D%(Y) T,
9 This is the %(Y) on B2-2.
NI, BIX B2-2 D%(Y) T,
%0 This is the %(Y) on C1-2.
NI, BIX C1-2 D%(Y) T,

51 This is the %(Y) on C2-2.
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J1334108643a 100, ,
E 0,

(G1334109581r 100, O
E 0, 0,
J1334125186e 0
E e 0
R1334166330n 50,

E 50, |,

100, 0,
100, |0,

P13341818651 100, O,
E 0, 0

L1334180602i
E

C1334186019i 100,

E 0, 100

Lexical
Group 1

100, 100,
100, 100,
100, 100,
100, 100,

0,0,

100, 100,

100, 100,

Number
of

informant

S

Percentag | , 5o,
i .

0%
B>
0%

4

0%
B>
0%

52

29.5%

e

100, 100,
0 100,

100,
0,
0

50,

0,0,

0,0,

50, 100,
100, 0,

100,
0,
100,
0,

100,
33,

0,0,
0,0,

100,
33,

(where
AZ25 A=50
0% A< % %
= &% B=qo% B=
0% B=0% 0%)

= 0%<A

Lexical
Group 2

16 0 104 | (96)

9% 0% 59%

7. Informant List 1Y7A-NYYF-UAF

(10)

NI, B C2-2 D%(Y) T,
47 This is the %(Y) on A2-2.

NI, BT A2-2 D%(Y)TY,

100, 100, l
m
100, 100, -
%5 .
m
=
e .
_ _ 0%<A (where
> "m7 Az25 AZEO
0% 0% 0% A< o5 o
B> B> = 25% B=0% B=
0% 0% 0% B=0% 0%)
Number
gl 62 | 14 | 2 9 | (87
informant
S
Zerce"tag 2% 352% 7.9% | 1.1% | 53.4%

EPSA [31] : BVA in English

Experiment #4
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pers-r2-x82-x83.1st% [created: Jun/22/2014 (12:19)%%] 75 A

English Natives; [31]-#1 (Every: A=25+; B=0); [31]-#1 (No: A=25+; B=0);
s/n codename familiarity

239 11334104779nE not familiar>™

240 X13341062550C s0-s0

241 J1334108643aE  not familiar

52 The informant classification here for EPSA [31]-4 is based on the result of EPSA [31]-1, focusing on the informants
whose %(Y)'s on Schema A and Schema B are [25% or higher] and 0%, respectively, both with SG1 (BVA(every boy,
his)) and with SG2(BVA(no boy, his)). As will be noted in footnote 54, the informants whose codenames are shaded
in grey are excluded from consideration here because their reported judgments are not in accordance with what is
indicated above. See Ch. 6: section 3.3.2. We are only considering native speaker of English; see Ch. 5: section 5.2.

EPSA [31]-4 [CH1FB1YTA-NY D/ FEFTITIE, EPSA[31]-1 DFERCEIVWTVES, DFY, AF-V-JI-T1
(BVA(every boy, his)) &2F=Y-J)L-F 2 (BVA(no boy, his)) OmEZAICELNT, Schema A D%(Y)H 25%LL £
TH'D Schema B M%(Y)H' 0% TdH 21V ITA-NYMMIR>TWET, iF 54 TRBLS(C, I-F& DT L-TiEEEn T

AV ITANYME CCTRIEROFIRNGBRASNTVET, IN(E, HoNRELHIEH ETHRALZEABANT

WBHTT, % 6 ZE 3.32 HixSBOIE, e REBORMT47 - AE-N-FIHEEOFREGH>TVNET, & 5

EFES5282SROIL,

53 The date here is when this file was created. See footnote 9.
ZOT-HE COXEMERSINELEOBOTT, T 952SHBOIL,

54 The shaded "informants" in the list are those whose judgments are excluded in result charts that are based on this
informant classification. There are 75 informants whose judgments are considered in the result charts that are based
on this informant classification.

YARROMBEFEINETAVTA-N VM IE ZOMVTA-N I DD FEICE TV EERORN G, HIBABRA SN AT
5TY, D1V TANIY MDD FEICEDIWVHERORCIE, 75 BO1YTA-N Y FOHIFAEENTVET,

%5 The informants are classified into three groups in accordance with what they report during EPSA registration as to
whether they understand (i) how "bound readings"” and "bound variable anaphora” are used in linguistic discussion
and (ii) what is meant by "A takes wide scope over B" in linguistic discussion. If they report they understand neither,
they are classified as "not familiar." If they report they understand one but not the other, they are classified as "so-
so." If they report they understand both, they are classified as "familiar."

1VTA=NY M, EPSA BEFOBEORD 2 MICEET2HEICEINT 3 DOIN-FILHBEINET, (i) SEBFDZE
. bound readings & bound variable anaphora & WO FIEED Y DESHEBRTHERAINTWB. (i) SEFDER
T AN B LYEVWAT-TZERZ L WS DD EDLIBERTHEN, D 2 SEEELTWINEINTT, L. 1V TA-
VYMHEELEDNBBNERE LB AL 201V TA-YYME not familiar (FA5EV) (CHFESNET, EL1VT
ANV 220535 1 DDA EBRELTNBERELIIBEE. ZD1YTA-V Y M so-so (HBZEF>TNB) L9
FINET, ELAYVIA-NYMIEELEBEL TV ERE LB G, 201V TA4-Y Y ME familiar (F1-TW3) &
PFEINIT,
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242 G1334109581rE
243 J1334125186eE
244 Y1334130439aC
245 J1334141810hK
246 R1334166330nE
247 1.1334180602iE
248 P13341818651E
252 C1334186019iE

767 Pi1391084617E
732 Ax1390455942K
756 Lal390781458E
811 Me1393119886K
782 Tr1391673096K
729 Sg1390362538K

Serial numbers of informants are supplied in some informant-classification lists but not in some others, for

a technical reason.

B GEEN S, A1V TA-NY I EYAMIE A1V TA-NVFOBLESMEHINTWSZEDEHN (S,

S0-S0
not familiar
S0-S0
not familiar
not familiar
not familiar
S0-S0
not familiar

not familiar
not familiar
S0-S0
S0-S0
not familiar
S0-S0

BEINTWEWEDEHYET,

8. Raw Data 4%£7-%

(11)

9536 answers

EPSA [31] : BVA in English

Experiment #4 [Straight List of Raw Data]
The answers are listed as they have been reported.

The blue boxes are for okExamples; the light pink boxes are for *Examples.

The value in the box under B represents the reported judgment; when it is not 0 for a *Example, the box is marked yellow.

codename

example B time
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test type



(Under the interpretation “No boy praised his own father")

His father, no boy praised.®

2 (U_nder the int_erpretation "No boy was praised by his own father")
His father praised no boy.

(With His referring to a specific boy, Mike, for example)

His father praised no boy.

(Under the interpretation “"Every boy praised his own father")

Every boy praised his father.

(Under the interpretation "Every boy praised himself")

Every boy praised him.

(With him referring to a specific boy, Mike, for example)

Every boy praised him.

(Under the interpretation "Every boy praised his own father™)

Every boy praised his father.

(Under the interpretation “Every boy was praised by his own
11334104779nE 2 1 1 father") 0 2012.04.10 (17:48) Yes-or-No (in sets)
His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

11334104779nE 150 257 2% 1009 (2{)71_3%46.110 Yes-or-No (in sets)®?

11334104779nE 2 2 100 2012.04.10 (17:47) Yes-or-No (in sets)
11334104779nE 3 2 2 100 2012.04.10 (17:47) Yes-or-No (in sets)
11334104779nE 1 3 1 100 2012.04.10 (17:48) Yes-or-No (in sets)
11334104779nE 2 3 1 0 2012.04.10 (17:48) Yes-or-No (in sets)
11334104779nE 3 3 1 100 2012.04.10 (17:48) Yes-or-No (in sets)

11334104779nE 1 1 1 100 2012.04.10 (17:48) Yes-or-No (in sets)

11334104779nE 3 1 1 100 2012.04.10 (17:48) Yes-or-No (in sets)

% This stands for Schema type A. The number in this column represents the Schema type of the Example. "2" stands
for Schema type B, and "3" for Schema type C.

INEAF-V 91T AZBKRLET, COFNOBFEBIXDAF-V - 1T 2R LTWET, 2[EAF-V- 91T B%. 3 (3
AF-N-917T CERBHLET,

> This stands for SG2.

NERAF-N-TIN-T 2%2FKLET,

%8 This stands for LG2.

NEFEEIIN-T 25K LUET,

%9 The ID of this Example is A2-2. See (6).
ZOFIXXD ID (3, A2-2 TT, (6)&BBDIL,

8 The Yes answer is recorded as 100. Since we are here addressing the reported informant judgment on each Example,
the %(Y) on the Example is either 100 or 0.

Yes DEIZ(F 100 ELTRHFESINTVNET, CCTIEIZENZNOBIXICEAL TI Y ITA-Y Y MI&o TR E SN 3R Z K-
TWETODT, BISXD%(Y)E 100 £=(E 0 (CHEYET,

81 This indicates when the judgment was recorded.

INEHIBTH WO RFEINIAERLTVET,

%2 This indicates what test type was chosen; see Ch. 5: section 3.1.
NEEEDTAMNERNBIRSN TN ERLTWES, B 5 E 5 3.1 EZSROIL,
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11334104779nE 1

11334104779nE 2

11334104779nE 3

11334104779nE 1

11334104779nE 2

11334104779nE 3

11334104779nE 1

11334104779nE 2

11334104779nE 3

X13341062550C 2

X13341062550C 3

X13341062550C 2

X13341062550C 3

X13341062550C 1

J1334125186eE 3

J1334125186eE 3

J1334125186eE 2

J1334125186eE 1

J1334125186eE 3

J1334125186eE 2

J1334125186eE 2

J1334125186eE 1

J1334125186eE 1

J1334125186eE 3

J1334125186eE 2

J1334125186eE 3

J1334125186eE 3

J1334125186eE 1

(Under the interpretation "No boy praised his own father")
No boy praised his father.

(Under the interpretation “No boy was praised by his own father")

His father praised no boy.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation “No boy praised his own father")
No boy praised his father.

(Under the interpretation "No boy praised himself")

No boy praised him.

(With him referring to a specific boy, Mike, for example)
No boy praised him.

(Under the interpretation "Every boy praised his own father")
His father, every boy praised.

(Under the interpretation “Every boy was praised by his own
father")

His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation "No boy praised himself")

No boy praised him.

(With him referring to a specific boy, Mike, for example)
No boy praised him.

(Under the interpretation "Every boy was praised by his own
father")

His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation "No boy praised his own father")
His father, no boy praised.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation “Every boy was praised by his own
father")
His father praised every boy.

(Under the interpretation "Every boy praised his own father")
His father, every boy praised.

(With him referring to a specific boy, Mike, for example)
Every boy praised him.

(Under the interpretation "Every boy praised himself")

Every boy praised him.

(Under the interpretation “No boy praised himself*)
No boy praised him.

(Under the interpretation “Every boy praised his own father™)
Every boy praised his father.

(Under the interpretation “No boy praised his own father")
No boy praised his father.

(With His referring to a specific boy, Mike, for example)

His father praised every boy.

(Under the interpretation "No boy was praised by his own father")

His father praised no boy.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(With him referring to a specific boy, Mike, for example)
No boy praised him.

(Under the interpretation “No boy praised his own father")
No boy praised his father.
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100

100

100

100

100

100

100

100

100

100

100

100

100

25

2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (17:48) Yes-or-No (in sets)

2012.04.10 (17:48) Yes-or-No (in sets)

2012.04.10 (17:48) Yes-or-No (in sets)

2012.04.10 (17:48) Yes-or-No (in sets)
2012.04.10 (18:13) Yes-or-No (in sets)

2012.04.10 (18:13) Yes-or-No (in sets)

2012.04.10 (18:14) Yes-or-No (in sets)

2012.04.10 (18:14) Yes-or-No (in sets)

2012.04.10 (18:16) Yes-or-No (in sets)

2012.04.11 (00:09) Yes-or-No (one each)

2012.04.11 (00:09) Yes-or-No (one each)

2012.04.11 (00:09) Yes-or-No (one each)

2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)
2012.04.11 (00:09) Yes-or-No (one each)

2012.04.11 (00:11) Five-ranking (in sets)



J1334125186eE

J1334125186eE

J1334125186eE

J1334125186€eE

J1334125186€eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

J1334125186eE

(Under the interpretation "No boy praised himself")
No boy praised him.

(With him referring to a specific boy, Mike, for example)
No boy praised him.

(Under the interpretation “No boy praised his own father")
His father, no boy praised.

(Under the interpretation “No boy was praised by his own father")

His father praised no boy.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation "Every boy praised his own father™)
Every boy praised his father.

(Under the interpretation "Every boy praised himself")

Every boy praised him.

(Under the interpretation “"Every boy praised his own father")
Every boy praised his father.

(Under the interpretation “Every boy was praised by his own
father")
His father praised every boy.

(With His referring to a specific boy, Mike, for example)

His father praised every boy.

(Under the interpretation "Every boy praised his own father™)
His father, every boy praised.

(Under the interpretation "Every boy was praised by his own
father")
His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation "No boy praised his own father")
No boy praised his father.

(Under the interpretation "No boy was praised by his own father")

His father praised no boy.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation “No boy was praised by his own father")

His father praised no boy.

(Under the interpretation “No boy praised his own father")
No boy praised his father.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation "Every boy was praised by his own
father™)
His father praised every boy.

(With him referring to a specific boy, Mike, for example)
Every boy praised him.

(Under the interpretation “No boy praised his own father")
No boy praised his father.

(Under the interpretation "Every boy praised himself")
Every boy praised him.

(Under the interpretation “"Every boy praised his own father")
His father, every boy praised.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation "Every boy praised his own father")
Every boy praised his father.

(With His referring to a specific boy, Mike, for example)
His father praised no boy.

(Under the interpretation “No boy praised his own father")
His father, no boy praised.
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25

100

25

25

100

25

100

25

25

100

50

100

25

2012.04.11 (00:11) Five-ranking (in sets)
2012.04.11 (00:11) Five-ranking (in sets)
2012.04.11 (00:11) Five-ranking (in sets)
2012.04.11 (00:11) Five-ranking (in sets)
2012.04.11 (00:11) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)
2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) Five-ranking (in sets)

2012.04.11 (00:12) ;‘éﬁirank'”g (one

Five-ranking (one
each)

Five-ranking (one
each)

2012.04.11 (00:12)
2012.04.11 (00:12)

Five-ranking (one

20120411 (00:12) co

Five-ranking (one
each)

Five-ranking (one
each)

Five-ranking (one
each)
Five-ranking (one
each)
Five-ranking (one
each)
Five-ranking (one
each)

Five-ranking (one
each)

Five-ranking (one
each)

2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)

2012.04.11 (00:12)



J1334125186eE 3

J1334125186eE 2

J1334125186eE 1

J1334125186eE 3

J1334125186eE 2

J1334125186eE 2

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

Y1334130439aC 1

Y1334130439aC 2

Y1334130439aC 3

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation “No boy praised himself*)

No boy praised him.

(Under the interpretation "Every boy praised his own father")

Every boy praised his father.
(With him referring to a specific boy, Mike, for example)

No boy praised him.

(Under the interpretation "No boy was praised by his own father")
His father praised no boy.

(Under the interpretation "Every boy was praised by his own

father")

His father praised every boy.

(Under the interpretation "No boy praised his own father")
His father, no boy praised.

(Under the interpretation “No boy was praised by his own father")
His father praised no boy.

(With His referring to a specific boy, Mike, for example)

His father praised no boy.

(Under the interpretation "No boy praised his own father")

No boy praised his father.

(Under the interpretation "No boy praised himself")

No boy praised him.

(With him referring to a specific boy, Mike, for example)

No boy praised him.

(Under the interpretation "No boy praised his own father")

No boy praised his father.

(Under the interpretation "No boy was praised by his own father")
His father praised no boy.

(With His referring to a specific boy, Mike, for example)

His father praised no boy.
(Under the interpretation "Every boy praised his own father")

Every boy praised his father.

(Under the interpretation "Every boy was praised by his own

father™)

His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.

(Under the interpretation "Every boy praised his own father")

Every boy praised his father.
(Under the interpretation "Every boy praised himself")

Every boy praised him.

(With him referring to a specific boy, Mike, for example)

Every boy praised him.
(Under the interpretation "Every boy praised his own father")

His father, every boy praised.

(Under the interpretation “Every boy was praised by his own

father")

His father praised every boy.

(With His referring to a specific boy, Mike, for example)
His father praised every boy.
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Five-ranking (one
each)

Five-ranking (one
each)

Five-ranking (one
each)

Five-ranking (one
each)

Five-ranking (one
each)

2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)
2012.04.11 (00:12)

Five-ranking (one
each)

2012.04.11 (00:12)
2012.04.11 (01:11) Yes-or-No (in sets)
2012.04.11 (01:11) Yes-or-No (in sets)
2012.04.11 (01:11) Yes-or-No (in sets)
2012.04.11 (01:12) Yes-or-No (in sets)
2012.04.11 (01:12) Yes-or-No (in sets)
2012.04.11 (01:12) Yes-or-No (in sets)
2012.04.11 (01:13) Yes-or-No (in sets)
2012.04.11 (01:13) Yes-or-No (in sets)

2012.04.11 (01:13) Yes-or-No (in sets)

2012.04.11 (01:13) Yes-or-No (in sets)

2012.04.11 (01:13) Yes-or-No (in sets)

2012.04.11 (01:13) Yes-or-No (in sets)
2012.04.11 (01:14) Yes-or-No (in sets)
2012.04.11 (01:14) Yes-or-No (in sets)
2012.04.11 (01:14) Yes-or-No (in sets)

2012.04.11 (01:14) Yes-or-No (in sets)

2012.04.11 (01:14) Yes-or-No (in sets)

2012.04.11 (01:14) Yes-or-No (in sets)



